#12 SS SELF-TAPPING FLAT HEAD
SCREW (JK211)

SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

TINNERMAN CLIP (JK205)

EPOXY GROUT BACKFILL (BY
OTHERS)

ALUM. STACKABLE BASE (SR002)

L0 DECK MEMBRANE
. TOPPING - TERMINATION -

11/2"

[38mm] COURSE  POINT T (BY OTHERS)

3 3/8"

SEALANT (BY

OTHERS)

W

[56

2 3/16"

mm]

.

1/4" x 1 1/4" [M6x32] HEX
HEAD CONCRETE SCREW
(JK180)

‘ A A A A \_ RETAINER ALUM. (J1A022)
| OR BRUSHED SS. (SR007SS)
o \
R ~— HEAT WELDABLE
STRUCTURAL ‘ SANTOPRENE SEAL
DECK / (SR-2008S)
J | Z‘J g i CUT TAB
WATERPROOF MEMBRANE CNTRFLASHING LEVELING ]
FOR FLUID APPLIED (JSR-SBSFLASH-13) OR BED (BY [51mm]
SINGLE PLY (JSR-TAPEFLASH-12) OTHERS) REINE. EPDM VAPOR BARRIER
MEMBRANES (JLO09-RVB) NOTE: SET IN
3/8" [10mm] HEX HEAD CONCRETE SR-200-38A2 CONT. BED OF BUTYL SEALANT
SCREW ANCHOR (JK173) (7 PER 38 (BY OTHERS) TERMINATE RVB
FRAME @ 18" [457mm] JOINT WIDTH MOVEMENT + AT OUTSIDE EDGES OF
MINIMUM MAXIMUM SYSTEM
US | mm | US | mm | US | mm
2" 51 1" 25 3" 75
FINISH: MILL

PROJECT: DATE: 718117 .
CUSTOMER: APPLICATION- SCALE: 1:2 'n ro
EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES o

LOCATION:

DOC: CADJM.191/R3

For More Information Visit: Inprocorp.com




#12 SS SELF-TAPPING FLAT HEAD
SCREW (JK211)

SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

TINNERMAN CLIP (JK205)
EPOXY GROUT BACKEFILL (BY OTHERS)

ALUM. STACKABLE BASE (SR002)

4 3/8"
[110mm]

TOPPING .. -

. DECK MEMBRANE .

|_— SEALANT (BY
% OTHERS)

2 3/16"
[56mm]

\ 1/4" x 1 1/4" [M6x32] HEX

" -~ | =
11/2 <" TERMINATION 4§ A Q Q Q Q HEAD CONCRETE SCREW
[38mm] CQU.R,S,'?., POINT (BY OTHERS) (JK180)
f e e AN I L
\_ RETAINER ALUM.
(J1A022) OR BRUSHED
‘\ / SS. (SR007SS)
NQ '0
STRUCTURAL S~
2RI
//// CUT TAB
_] \ HEAT WELDABLE
WATERPROOF MEMBRANE CNTRFLASHING LEVELING g SANTOPRENE SEAL
FOR FLUID APPLIED (JSR-SBSFLASH-13) OR BED (BY Zomm ™ (SR-300S)
SINGLE PLY (JSR-TAPEFLASH-12) OTHERS)
MEMBRANES REINF. EPDM VAPOR
3/8" [10mm] HEX HEAD CONCRETE SR-300-38A2 BARRIER (JL012-RVB)
NOTE: SET IN CONT. BED
SCREW ANCHOR (JK173) (7 PER FRAME
@ 18" [457mm] JOINT WIDTH MOVEMENT = OF BUTYL SEALANT (BY
MINIMUM MAXIMUM OTHERS) TERMINATE
us mm us mm us mm RVB AT OUTSIDE EDGES
3" 76 | 11/2"| 38 [41/2"[ 114 OF SYSTEM
FINISH: MILL
PROJECT: DATE: 718117
APPLICATION-

CUSTOMER:

LOCATION:

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

SCALE: 1:2

iINpro.

For More Information Visit: Inprocorp.com

DOC: CADJM.191/R3




#12 SS SELF-TAPPING FLAT HEAD
SCREW (JK211)

SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

TINNERMAN CLIP (JK205)

EPOXY GROUT BACKFILL (BY
OTHERS)

ALUM. STACKABLE BASE (SR002) ~\

5 3/8"

[136mm]

" DECK MEMBRANE ot

11/2"
[38mm]

:TOPP'NG  TERMINATION D
COURS b POINT(BYOTHERS)

o T T

STRUCTURAL
DECK

WATERPROOF MEMBRANE
CNTRFLASHING FOR FLUID APPLIED
(JSR-SBSFLASH-13) OR SINGLE PLY
(JSR-TAPEFLASH-12) MEMBRANES

3/8" [10mm] HEX HEAD CONCRETE
SCREW ANCHOR (JK173) (7 PER
FRAME @ 18" [457mm]

FINISH: MILL

/

SEALANT
(BY
OTHERS)

7
2

2 3/16"
[66mm]

N 174" x 1 1/4" [M6x32)
HEX HEAD
CONCRETE SCREW
(JK180)

\_ RETAINER ALUM.
(J1A022) OR BRUSHED
SS. (SR007SS)

i E iCUTTAB

\ HEAT WELDABLE

SANTOPRENE
SEAL (SR-4008S)

REINF. EPDM
VAPOR BARRIER
(JLO12-RVB) NOTE:
SET IN CONT. BED
OF BUTYL SEALANT
(BY OTHERS)
TERMINATE RVB AT
OUTSIDE EDGES OF
SYSTEM

PROJECT:

CUSTOMER:

LOCATION:

4
LEVELING BED [102mm]
(BY OTHERS)
SR-400-38A2
MOVEMENT =+
JOINT WIDTH MINIMUM MAXIMUM
UsS mm UsS mm uUsS mm
4" 102 2" 51 6" 152
DATE: 7/8/17
APPLICATION- -

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

SCALE:

DOC: CADJM.191/R3

iINpro.

For More Information Visit: Inprocorp.com




SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

EPOXY GROUT BACKFILL AND
LEVELING BED (BY OTHERS)

TINNERMAN CLIP (JK205)
ALUM. STACKABLE BASE (SR002)

3 3/8"

SEALANT (BY
OTHERS)

ST el DECK MEMBRANE Ca NG N = Naa/al
TOPPING -". TERMINATION b : HES
on COURSE . POINT '\j
[51mm] ; © (BY OTHERS)
7/16"
[12mm]

2 3/16"
[56mm]

STRUCTURAL
DECK

WATERPROOF MEMBRANE

/ 4 3/8" 2"

[85mm]
#12 SS
SELF-TAPPING
FLAT HEAD
BN SCREW (JK211) /

N 14mx 1 140 [M6x32] HEX
HEAD CONCRETE SCREW
(JK180)

\_ RETAINER ALUM. (J1A022)
OR BRUSHED SS.
(SRO07SS)

i g iCUTTAB

\ HEAT WELDABLE

SANTOPRENE SEAL

(SR-2008S)

REINF. EPDM VAPOR
BARRIER (JLO09-RVB) NOTE:

CNTRFLASHING FOR FLUID APPLIED [112mm] [S1mm] SET IN CONT. BED OF BUTYL
(JSR-SBSFLASH-13) OR SINGLE PLY SEALANT (BY OTHERS)
(JSR-TAPEFLASH-12) MEMBRANES TERMINATE RVB AT OUTSIDE
SR-200-51A2 EDGES OF SYSTEM
3/8" [10mm] HEX HEAD CONCRETE MOVEMENT
SCREW ANCHOR (JK173) (7 PER JOINTWIDTH| o ivUM. | MAXIMUM
FRAME @ 18" [457mm] US Tmm T us | mm T US| mm
2" 51 1" 25 3" 75
FINISH: MILL
PROJECT: DATE: 7/8/17
APPLICATION-

CUSTOMER:

LOCATION:

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

SCALE:

DOC: CADJM.191/R3

1 INpro.

For More Information Visit: Inprocorp.com




SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

TINNERMAN CLIP (JK205)

EPOXY GROUT BACKFILL AND
LEVELING BED (BY OTHERS)

ALUM. STACKABLE BASE (SR002)

_

4 3/8"

#12 SS

SELF-TAPPING

FLAT
HEAD
SCREW
(JK211

| L
DECK MEMBRANE : “
2" Egmgg TERMINATION N B i
[51mm] . POINT (BY OTHERS)
b ST T
7/16"
[12mm]
STRUCTURAL
DECK

WATERPROOF MEMBRANE

/

o%%@
! "

[111mm]

SEALANT
(BY
OTHERS)

Z

2 3/16"
[56mm]

x

N

Q/

1/4" x 1 1/4" [M6x32] HEX
HEAD CONCRETE SCREW
(JK180)

RETAINER ALUM. (J1A022)
OR BRUSHED SS.
(SR007SS)

i E iCUTTAB

\ HEAT WELDABLE

SANTOPRENE SEAL
(SR-3008S)

CNTRFLASHING FOR FLUID APPLIED 43/8" 3" REINF. EPDM VAPOR
(JSR-SBSFLASH-13) OR SINGLE PLY [112mm] [76mm] " BARRIER (JLO12-RVB) NOTE:
(JSR-TAPEFLASH-12) MEMBRANES SET IN CONT. BED OF BUTYL
SEALANT (BY OTHERS)
SR-300-51A2 TERMINATE RVB AT OUTSIDE
3/8" [10mm] HEX HEAD CONCRETE + EDGES OF SYSTEM
SCREW ANCHOR (JK173) (7 PER JOINT WIDTH MINI \I;AL?A)/EMETA-I,-A)ZIMUM
FRAME @ 18" [457mm] 0S mm US M US mm
3" 76 11/2"( 38 [(41/2"] 114
FINISH: MILL
PROJECT: DATE: 718117
APPLICATION-

CUSTOMER:

LOCATION:

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

SCALE: 1:2

DOC: CADJM.191/R3

iINpro.

For More Information Visit: Inprocorp.com




SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

TINNERMAN CLIP (JK205)

EPOXY GROUT BACKFILL AND
LEVELING BED (BY OTHERS)

ALUM. STACKABLE BASE (SR002)

5 3/8"

[136mm]

#12 SS

SELF-TAPP
FLAT HEAD
SCREW (JK211)

o
[51mm]

#

"TOPPING - TERMINATION -

" DECK MEMBRANE

COURSE : POINT e

< (BY OTHERS)

7/16"
[12mm]

STRUCTURAL
DECK

WATERPROOF MEMBRANE

CNTRFLASHING FOR FLUID APPLIED
(JSR-SBSFLASH-13) OR SINGLE PLY
(JSR-TAPEFLASH-12) MEMBRANES

3/8" [10mm] HEX HEAD CONCRETE
SCREW ANCHOR (JK173) (7 PER

FRAME @ 18" [457mm]

FINISH: MILL

//

SEALANT
(BY

OTHERS)

ING

2 3/16"
[56mm]

N\ 1/4" x 1 1/4" [M6x32] HEX
HEAD CONCRETE
SCREW (JK180)

"\_ RETAINER ALUM.
(J1A022) OR BRUSHED
SS. (SR007SS)

i g iCUTTAB

\ HEAT WELDABLE

SANTOPRENE SEAL
(SR-400S)

REINF. EPDM VAPOR
BARRIER (JLO12-RVB)
NOTE: SET IN CONT.
BED OF BUTYL
SEALANT (BY OTHERS)
TERMINATE RVB AT
OUTSIDE EDGES OF
SYSTEM

PROJECT:

CUSTOMER:

LOCATION:

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

4
[112mm] [101mm]
SR-400-51A2
MOVEMENT +
JOINT WIDTH MINIMUM MAXIMUM
us mm uUs mm us mm
4" 102 2" 51 6" 152
DATE: 718117
APPLICATION-

SCALE: 1:2

DOC: CADJM.191/R3

iINpro.

For More Information Visit: Inprocorp.com




#12 SS SELF-TAPPING FLAT HEAD SCREW (JK211)

SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)
ALUM. STACKABLE FRAME (SR003)
EPOXY GROUT BACKEFILL (BY OTHERS)
TINNERMAN CLIP (JK205)

ALUM. STACKABLE BASE (SR002) —\

" DECK MEMBRANE "

- TERMINATION &

 POINT

21/2" 7 (BY OTHERS)

[63mm] Wt mh T T
. TOPPING COU

ok o

STRUCTURAL
DECK

WATERPROOF MEMBRANE —I
CNTRFLASHING FOR FLUID APPLIED
(JSR-SBSFLASH-13) OR SINGLE PLY

EPOXY GROUT
LEVELING BED

2||

= [51mm]

3 3/8"
[85mm]

SEALANT (BY OTHERS)

2 3/16"
[56mm]

\ 1/4" x 1 1/4" [M6x32] HEX HEAD
CONCRETE SCREW (JK180)

\_ RETAINER ALUM. (J1A022) OR
BRUSHED SS. (SR007SS)

_ HEAT WELDABLE
SANTOPRENE SEAL
(SR-200S)

i g iCUTTAB

REINF. EPDM VAPOR BARRIER

(BY OTHERS) (JLO09-RVB) NOTE: SET IN CONT.
(JSR-TAPEFLASH-12) MEMBRANES SR-200-63A3 BED OF BUTYL SEALANT (BY
OTHERS) TERMINATE RVB AT
3/8" [10mm] HEX HEAD CONCRETE JOINT WIDTH MOVEMENT = OUTSIDE EDGES OF SYSTEM
SCREW ANCHOR (JK173) (7 PER FRAME MINIMUM MAXIMUM
@ 18" [457mm] US mm UuS mm Uus mm
2" 51 1" 25 3" 75
FINISH: MILL
PROJECT: DATE: 718117 .
CUSTOMER: APPLICATION- SCALE: 1:2 'n ro
EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES ®
LOCATION: DOC: CADJM.191/R3 For More Information Visit: Inprocorp.com




SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)

)

ALUM. STACKABLE FRAME (SR003
EPOXY GROUT BACKFILL (BY OTHERS

)
TINNERMAN CLIP (JK205)
)

ALUM. STACKABLE BASE (SR002 —\

4 3/8"

~ DECK MEMBRANE .~

21/2"
[63mm]

STRUCTURAL
DECK

SEALANT
[111mm] (BY OTHERS)

#12 SS

SELF-TAPPING .

FLAT HEAD 2 3/16

SCREW (JK211) [56mm]

\j
]
i “
| N 14 x 114" [M6x32] HEX
\_a, [ HEAD CONCRETE SCREW
(JK180)

E \_ RETAINER ALUM. (J1A022)

WATERPROOF MEMBRANE
CNTRFLASHING FOR FLUID APPLIED

J

LEVELINGBEDJ .3

\ \\\&

OR BRUSHED SS. (SR007SS)

S~_ HEAT WELDABLE
SANTOPRENE SEAL
(SR-3008)

i E iCUTTAB

REINF. EPDM VAPOR BARRIER
(JLO12-RVB) NOTE: SET IN

(JSR-SBSFLASH-13) OR SINGLE PLY (BY OTHERS) [76mm] CONT. BED OF BUTYL SEALANT
(JSR-TAPEFLASH-12) MEMBRANES fTY SDJTHSEISE)ETDE;VIS”\(IDAFTE RVB
" SR-300-63A2 SySTEN
3/8" [10mm] HEX HEAD CONCRETE MOVEMENT +
SCREW ANCHOR (JK173) (7 PER FRAME JOINT WIDTH MINIMUM MA)ZIMUM
@ 18" [457mm]
us mm us mm us mm
3" 76 [11/2"] 38 [41/2"| 114
FINISH: MILL
PROJECT: DATE: 718117
APPLICATION-

CUSTOMER:

LOCATION:

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

SCALE:

DOC: CADJM.191/R3

1 Inpro.

For More Information Visit: Inprocorp.com




#12 SS SELF-TAPPING FLAT HEAD
SCREW (JK211)

SERRATED ALUM. RETAINER ANGLE
(SR004), OPTIONAL: EMBOSSED SS.
(SR005), OR BRUSHED (SR005B)
ALUM. STACKABLE FRAME (SR003)

EPOXY GROUT BACKFILL (BY OTHERS)

21/2"
[63mm]
f

~~'...:‘;f.','DECK MEMBRANE 4
" TERMINATION POINT ¥
" (BY OTHERS)

TOPPING COURSE

ALUM STACKABLE BASE (SR002) —

TINNERMAN CLIP
(JK205)

2

STRUCTURAL
DECK

WATERPROOF MEMBRANE

]

BED —\

5 3/8"
[136mm]

SEALANT (BY

OTHERS)

2 3/16"
[56mm]

N 14t x 1 174 [M6x32] HEX
HEAD CONCRETE SCREW
(JK180)

\_ RETAINER ALUM. (J1A022)
OR BRUSHED SS. (SR007SS)

i g iCUTTAB

\ HEAT WELDABLE
SANTOPRENE SEAL

(SR-4008S)

CNTRFLASHING FOR FLUID APPLIED 4"
(JSR-SBSFLASH-13) OR SINGLE PLY LEVELING [102mm] REINF. EPDM VAPOR BARRIER
(JSR-TAPEFLASH-12) MEMBRANES (BY OTHERS) (JLO12-RVB) NOTE: SET IN CONT.
BED OF BUTYL SEALANT (BY
3/8" [10mm] HEX HEAD CONCRETE S R'4OO'63A2 83%'%%) Egg'\é"SNél'ES\F;\S/TBEAJ
SCREW ANCHOR (JK173) (7 PER JOINT WIDTH MOVEMENT =
FRAME @ 18" [457mm] MINIMUM MAXIMUM
US mm us mm us mm
FINISH: MILL 4" 102 2" 51 6" 152
PROJECT: DATE: 718117
APPLICATION-

CUSTOMER:

LOCATION:

EXTERIOR COMPRESSION SEAL W/ ALUM. FRAMES

SCALE:

1:2

DOC: CADJM.191/R3

iINpro.

For More Information Visit: Inprocorp.com




